
OMNISTAR
 

OPTICAL BLOCK 
FIXATIONS 2.

00-11-285 | CAD-0006860 rev E | 04-2019 www.schreder.com 1/7

C
op

yr
ig

ht
 ©

 S
ch

ré
de

r 
S.

A.
 2

01
9 

- 
Ex

ec
ut

iv
e 

Pu
bl

is
he

r: 
St

ép
ha

ne
 H

al
le

ux
 -

 S
ch

ré
de

r 
In

te
rn

at
io

na
l S

er
vi

ce
s 

sa
 -

 B
-4

00
0 

Li
ég

e,
 R

ue
 d

e 
M

on
s 

3 
(B

el
gi

um
) -

 T
he

 in
fo

rm
at

io
n,

 d
es

cr
ip

tio
ns

 a
nd

 il
lu

st
ra

tio
ns

 h
er

ei
n 

ar
e 

on
ly

 o
f 

an
 in

di
ca

tiv
e 

na
tu

re
 a

nd
 s

ub
je

ct
 t

o 
ch

an
ge

s 
w

ith
ou

t 
no

tic
e.

 W2 FIX BRACKET FOR SURFACE MOUNT

TILTABLE BRACKET FOR SURFACE MOUNT

 S1 SUSPENDED BRACKET

 W1



00-11-285 | CAD-0006860 rev E | 04-2019 www.schreder.com 2/7

C
op

yr
ig

ht
 ©

 S
ch

ré
de

r 
S.

A.
 2

01
9 

- 
Ex

ec
ut

iv
e 

Pu
bl

is
he

r: 
St

ép
ha

ne
 H

al
le

ux
 -

 S
ch

ré
de

r 
In

te
rn

at
io

na
l S

er
vi

ce
s 

sa
 -

 B
-4

00
0 

Li
ég

e,
 R

ue
 d

e 
M

on
s 

3 
(B

el
gi

um
) -

 T
he

 in
fo

rm
at

io
n,

 d
es

cr
ip

tio
ns

 a
nd

 il
lu

st
ra

tio
ns

 h
er

ei
n 

ar
e 

on
ly

 o
f 

an
 in

di
ca

tiv
e 

na
tu

re
 a

nd
 s

ub
je

ct
 t

o 
ch

an
ge

s 
w

ith
ou

t 
no

tic
e.

W2

1x M8x60 M84x 4x

FIX BRACKET 
FOR SURFACE MOUNT 

(e.g. tunnel)

A

2 31

W2

+

14kg 2.4kg 16.4kg+ =

OMNOB
2.4kg

4 66

23
0

M8 4 4x

5
4x M8

7 2x 8 4xfor SS M8 for SS

 660 

550

material: standard or stainless steel (SS)1 6and

M8x60 for SS
with insulation tube

6
1x

W2OMNOB

W2

13



00-11-285 | CAD-0006860 rev E | 04-2019 www.schreder.com 3/7

C
op

yr
ig

ht
 ©

 S
ch

ré
de

r 
S.

A.
 2

01
9 

- 
Ex

ec
ut

iv
e 

Pu
bl

is
he

r: 
St

ép
ha

ne
 H

al
le

ux
 -

 S
ch

ré
de

r 
In

te
rn

at
io

na
l S

er
vi

ce
s 

sa
 -

 B
-4

00
0 

Li
ég

e,
 R

ue
 d

e 
M

on
s 

3 
(B

el
gi

um
) -

 T
he

 in
fo

rm
at

io
n,

 d
es

cr
ip

tio
ns

 a
nd

 il
lu

st
ra

tio
ns

 h
er

ei
n 

ar
e 

on
ly

 o
f 

an
 in

di
ca

tiv
e 

na
tu

re
 a

nd
 s

ub
je

ct
 t

o 
ch

an
ge

s 
w

ith
ou

t 
no

tic
e.

only for stainless steel

4 x M8

20 Nm

6

7
8

1

5

4

3

2 6or

!

!
!

!

660
542

15
0

75

16

50

495
610

9

15
0

+ W2OMNOB

W2



00-11-285 | CAD-0006860 rev E | 04-2019 www.schreder.com 4/7

C
op

yr
ig

ht
 ©

 S
ch

ré
de

r 
S.

A.
 2

01
9 

- 
Ex

ec
ut

iv
e 

Pu
bl

is
he

r: 
St

ép
ha

ne
 H

al
le

ux
 -

 S
ch

ré
de

r 
In

te
rn

at
io

na
l S

er
vi

ce
s 

sa
 -

 B
-4

00
0 

Li
ég

e,
 R

ue
 d

e 
M

on
s 

3 
(B

el
gi

um
) -

 T
he

 in
fo

rm
at

io
n,

 d
es

cr
ip

tio
ns

 a
nd

 il
lu

st
ra

tio
ns

 h
er

ei
n 

ar
e 

on
ly

 o
f 

an
 in

di
ca

tiv
e 

na
tu

re
 a

nd
 s

ub
je

ct
 t

o 
ch

an
ge

s 
w

ith
ou

t 
no

tic
e.

4 66

TILTABLE BRACKET  
FOR SURFACE MOUNT 

A

14kg 0.7kg 14.7kg+ =
0.7kg

1
2x

2
2x

3
4x     M8x20

4
4x    M8x60

5 8x      M8 6 8x     M8 7 8x     M8

8 4x M8x60 with 
insulation tube 
for SS

9 2x    

10 4x 1, 2, material: standard or stainless steel (SS)

11
0

35
95

50

50

18
0

21
0

9 

o9 

B

53
0

9

532

50

610

29
0

80

M8 for SS

+ W1OMNOB

W1OMNOB

W1

W1

W1

13



00-11-285 | CAD-0006860 rev E | 04-2019 www.schreder.com 5/7

C
op

yr
ig

ht
 ©

 S
ch

ré
de

r 
S.

A.
 2

01
9 

- 
Ex

ec
ut

iv
e 

Pu
bl

is
he

r: 
St

ép
ha

ne
 H

al
le

ux
 -

 S
ch

ré
de

r 
In

te
rn

at
io

na
l S

er
vi

ce
s 

sa
 -

 B
-4

00
0 

Li
ég

e,
 R

ue
 d

e 
M

on
s 

3 
(B

el
gi

um
) -

 T
he

 in
fo

rm
at

io
n,

 d
es

cr
ip

tio
ns

 a
nd

 il
lu

st
ra

tio
ns

 h
er

ei
n 

ar
e 

on
ly

 o
f 

an
 in

di
ca

tiv
e 

na
tu

re
 a

nd
 s

ub
je

ct
 t

o 
ch

an
ge

s 
w

ith
ou

t 
no

tic
e.

1

2

3

4 x M8

20 Nm

6

30o 30o

10

4 8or

3

2
6

5
7

1

9

    only for stainless steel

2

3

1

6
5

7

!

!

!

!

W1

+ W1OMNOB

+ W1OMNOB

2xM12

20 Nm-0
+0.5

13



00-11-285 | CAD-0006860 rev E | 04-2019 www.schreder.com 6/7

C
op

yr
ig

ht
 ©

 S
ch

ré
de

r 
S.

A.
 2

01
9 

- 
Ex

ec
ut

iv
e 

Pu
bl

is
he

r: 
St

ép
ha

ne
 H

al
le

ux
 -

 S
ch

ré
de

r 
In

te
rn

at
io

na
l S

er
vi

ce
s 

sa
 -

 B
-4

00
0 

Li
ég

e,
 R

ue
 d

e 
M

on
s 

3 
(B

el
gi

um
) -

 T
he

 in
fo

rm
at

io
n,

 d
es

cr
ip

tio
ns

 a
nd

 il
lu

st
ra

tio
ns

 h
er

ei
n 

ar
e 

on
ly

 o
f 

an
 in

di
ca

tiv
e 

na
tu

re
 a

nd
 s

ub
je

ct
 t

o 
ch

an
ge

s 
w

ith
ou

t 
no

tic
e.

SMo

2x

M12x40

M12 M12

M12

SUSPENDED 
BRACKET 

A

2x

2x

2x 2x 2x

2x

2

4

5 6 7

3

1

 360 

 
12,5 

 
25(2x) 

 9
9 

 20 

 400 

1  2x 2  2x 3  2x M12x40

4  2x M12 5  2x M12 6  2x M12

7  2x

 360 

 
12,5 

 
25(2x) 

 9
9 

 20 

 400 

1  2x 2  2x 3  2x M12x40

4  2x M12 5  2x M12 6  2x M12

7  2x

 360 

 
12,5 

 
25(2x) 

 9
9 

 20 

 400 

1  2x 2  2x 3  2x M12x40

4  2x M12 5  2x M12 6  2x M12

7  2x

 360 

 
12,5 

 
25(2x) 

 9
9 

 20 

 400 

1  2x 2  2x 3  2x M12x40

4  2x M12 5  2x M12 6  2x M12

7  2x

 360 

 
12,5 

 
25(2x) 

 9
9 

 20 

 400 

1  2x 2  2x 3  2x M12x40

4  2x M12 5  2x M12 6  2x M12

7  2x

 360 

 
12,5 

 
25(2x) 

 9
9 

 20 

 400 

1  2x 2  2x 3  2x M12x40

4  2x M12 5  2x M12 6  2x M12

7  2x

 360 

 
12,5 

 
25(2x) 

 9
9 

 20 

 400 

1  2x 2  2x 3  2x M12x40

4  2x M12 5  2x M12 6  2x M12

7  2x  360 

 
12,5 

 
25(2x) 

 9
9 

 20 

 400 

1  2x 2  2x 3  2x M12x40

4  2x M12 5  2x M12 6  2x M12

7  2x

 5
80

 

 564 

5x50

14kg 16kg2kg+ =
2kg

S1

S1OMNOB

+ S1OMNOB

S1

19



00-11-285 | CAD-0006860 rev E | 04-2019 www.schreder.com 7/7

C
op

yr
ig

ht
 ©

 S
ch

ré
de

r 
S.

A.
 2

01
9 

- 
Ex

ec
ut

iv
e 

Pu
bl

is
he

r: 
St

ép
ha

ne
 H

al
le

ux
 -

 S
ch

ré
de

r 
In

te
rn

at
io

na
l S

er
vi

ce
s 

sa
 -

 B
-4

00
0 

Li
ég

e,
 R

ue
 d

e 
M

on
s 

3 
(B

el
gi

um
) -

 T
he

 in
fo

rm
at

io
n,

 d
es

cr
ip

tio
ns

 a
nd

 il
lu

st
ra

tio
ns

 h
er

ei
n 

ar
e 

on
ly

 o
f 

an
 in

di
ca

tiv
e 

na
tu

re
 a

nd
 s

ub
je

ct
 t

o 
ch

an
ge

s 
w

ith
ou

t 
no

tic
e.

1 2

3

1

3

4

7 5

2

1

3

4

7 5

2

1

3

4

7 5

2

 360 

 
12,5 

 
25(2x) 

 9
9 

 20 

 400 

1  2x 2  2x 3  2x M12x40

4  2x M12 5  2x M12 6  2x M12

7  2x

 360 

 
12,5 

 
25(2x) 

 9
9 

 20 

 400 

1  2x 2  2x 3  2x M12x40

4  2x M12 5  2x M12 6  2x M12

7  2x

 5
0 

 8 

 15 

+ S1OMNOB

12xM12

45 Nm-0
+0.5

19


